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STATISTICAL ANALYSIS  

Time : Three Hours 

Maximum Marks : 100 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u 

djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZ&1 

(UNIT—1) 

1- lkaf[;dh; vuqla/kku ls vki D;k le>rs gSa \ lax.kuk ,oa 

fun’kZu fof/k;ksa dks muds lkis{k xq.k ,oa nks”kksa ds vk/kkj ij 

le>kb,A 

What do you mean by Statistical investigation ? Explain 

the census and sampling methods on the basis of their 

relative merits and demerits. 
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vFkok 

(Or) 

izkFkfed leadksa ls D;k vfHkizk; gS \ bUgsa laxzfgr djus dh 

fofHkUu fof/k;k¡ Li”V dhft,A 

What is meant by Primary Data ? Explain the various 

methods of collecting primary data. 

bdkbZ&2 

(UNIT—2) 

2- fuEufyf[kr vk¡dM+ksa ls dkyZfi;jlu dk fo”kerk xq.kkad Kkr 

dhft, % 

eki vkof̀Ÿk 

10 

11 
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14 
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From the following data find out the Karl Pearson’s 

Coefficient of skewness : 

Measurement Frequency 
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vFkok 

(Or) 

fuEufyf[kr vk¡dM+ksa ls ekud fopyu rFkk bldk xq.kkad Kkr 

dhft, % 

vk;q ¼o"kks± esa½ O;fDr;ksa dh la[;k 

0—10 

10—20 

20—30 

30—40 

40—50 

50—60 

60—70 

70—80 

15 

15 

23 

22 

25 

10 

5 

10 

Find standard deviation and its coefficient for the 

following data : 

Age (in year) No. of Person 
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50—60 
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70—80 
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bdkbZ&3 

(UNIT—3) 

3- ;fn fdlh yhi o”kZ esa ;n`PN;k pqu fy;k tk; rks ml o”kZ ¼i½ 

53 jfookj vkSj 53 lkseokj rFkk ¼ii½ 53 jfookj ;k 53 lkseokj 

gksus dh izk;fdrk Kkr dhft,A 

Find the chance that a leap year selected at random will 

contain (i) 53 Sunday and 53 Monday and (ii) 53 Sunday 

or 53 Monday. 

vFkok 

(Or) 

,d FkSys esa 4 dkyh rFkk 1 lQsn xsan gSA nwljs FkSys esa 5 dkyh 

o 4 lQsn xsan gSA fdlh ,d FkSys ls ,d dkyh xsan fudkyh 

tkrh gS rks D;k izkf;drk gS fd xsan igys FkSys ls gh fudyh  

gS \ 

A bag contains 4 black and 1 white ball. Another bag 

contains 5 black and 4 white balls. One ball has been 

taken out from one of the bags and found black. What is 

the probability that is came from the first bag ? 

bdkbZ&4 

(UNIT—4) 

4- fuEufyf[kr ij fVIif.k;k¡ fyf[k, % 

(i) Vh&ijh{k.k 

(ii) ,Q-&ijh{k.k 

Write notes on the following : 

(i) T-Test 

(ii) F-Test 
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vFkok 

(Or) 

fuEufyf[kr ij fVIif.k;k¡ fyf[k, % 

(i) izfrp;u ds ykHk 

(ii) izeki foHkze dh mi;ksfxrk 

Write short notes on the following : 

(i) Advantage of Sampling 

(ii) Utility of standard error 

bdkbZ&5 

(UNIT—5) 

5- lkaf[;dh xq.k fu;a=.k ls vki D;k le>rs gSa \ blds mís’;ksa o 

eq[; rduhdksa dh foospuk dhft,A 

What do you understand by Statistical Quality Control ? 

Explain its objects and main techniques.  

vFkok 

(Or) 

fuEufyf[kr leadksa ls o”kZ 1957 ds fy, tula[;k dk vuqeku 

yxkb, % 

o”kZ tula[;k ¼000½ 

1951 

1961 

1971 

1981 

42 

63 

100 

150 

From the following data estimate the population for the 

year 1957 : 
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Year Population (000) 

1951 

1961 

1971 

1981 

42 

63 

100 

150 
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